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Multiplication (Vertical) Name:
Solve each problem. Answers
1) 3,038 2 4,801 3 3,111 4) 1,890 X
x 5 x 6 X 9 X 5 '
2.
3.
4.
5 2,798 6) 4,000 ) 8,296 8 7,285 i
X 4 X 9 X 5 X 6 '
6.
7.
8.
9 6,680 100 1,514 1) 9,441 12) 4,538 .
X 4 X 5 X 9 X 3 '
10.
11.
12.
13) 8,430 14) 3,663 15 4,769 16)  7.048 .
X 9 X 5 X 5 X 3 '
14,
15.
16.
1) 6,792 18) 6,623 19 7,257 200 2982 .
X 6 X 6 X 3 X 7 '
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
1 2 3 4
) 3,938 ) 4,801 ) 3,111 ) 1,890 . 19,690
X 5 X 6 X 9 X 5
19,690 28,806 27,999 9,450 , 28,806
3 27,999
. 9,450
5 6 7 8
) 2,798 ) 4,000 ) 8,296 ) 7,285 s 11192
X 4 X 9 X 5 X 6
11,192 36,000 41,480 43,710 6. 36,000
;. 41,480
s 43,710
9 10 11 12
) 6,680 ) 1,514 ) 9,441 ) 4,538 o 26720
X 4 X 5 X 9 X 3
26,720 7,570 84,969 13,614 0. 7,570
1 84,969
» 13,614
13 14 15 16
) 8,430 ) 3,663 ) 4,769 ) 7,048 s 75870
X 9 X 5 X 5 X 3
75,870 18,315 23,845 21,144 18,315
5. 23,845
6. 21,144
17 18 19 20
) 6,792 ) 6,623 ) 7,257 ) 2,982 o 40752
X 6 X 6 X 3 X 7
40,752 39,738 21,771 20,874 18, 39,738
. 21,771
2. 20,874
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